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SEREVEL eSS CERE)
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CA22E 0 2,677,615 1,745,873 931,742
= 90,330
Al 219,750
- 2,367,535
CA2 2E 2 2L 196,715 191,510 5,205
Al 36,000
- 160,715
SEMEs &d 43,794 56,580 N12,786
SEMESEM 29 16,740 21,040 24,300
201 fet=23y| 16,000 19,800 A3,800
03 A= 16,000 19,800 A3,800
Ocldlgd=sA2et=Hl
20,000, 0002 14]x80%<E 2> 16,000
301 2eEN=S 740 1,240 A500
1 AREIXRES 240 240 0
Ocldelg =M= MAE SAIAE 28
8,000 %302 *13] 240
4Bt 2 a3 500 1,000 A500
OcldeldSAES=MNETHAZ
500,000 500
SSTAE 22 27,054 35,540 A\8,486
201 =3 6,240 4,540 1,700
01 At22t2l] 6,240 4,540 1,700
OREW=H| 1,600
—EA2A2ANOILIS S
100,000 8 »23] 1,600
Oo=2g= 3,360
—CANZAEIRA B
100,000 * 143 +33] +80%<E 2> 3,360
Os¢gt 1,280
— A2 SRS A
8,000 x5 x40 & +80%<E 2> 1,280
202 04| 4,464 4,464
01 2L AL 4,464 4,464
O AZatEAASH A Z =T 0]
97,4003 2 2L 22| x80%<E 2> 624
O=MA2S LTI
20,0002 x5 48 +80%<E 2> 3,840
203 HR=H| 1,350 1,350
03 A= LR F&IH| 1,350 1,350
OEN22E UH RN
1,500, 0002 x00%<& 2> 1,350
405 AtatE = 15,000 15,000
01 TR ESFSHI 15,000 15,000




A SN2
B CAP 29 L 22
el SME &4 (Gt H2)
SA - ZE - B2(30) - HRAS of v e HIDE2
OSXsANEN2RR 15,000
—ANIEEE 6,900,000 =2CH 13,800
— IS AFRI1I1(PC) 1,200,000CH*1CH 1,200
A2 M2 2l 152,921 134,930 17,991
Al 36,000
- 116,921
A2 M2t X3 80,921 62,930 17,991
101 @124H| 32,349 21,3% 10,955
M ORIMZZ2NSE S 32,349 21,394 10,955
OX2E MK R AA QIS
BHEEESHS)
86,4002 x2 26 2 «9Z B0U<E 2> 32,349
201 fer23| 36,002 32,806 3,1%
01 AtR2t2|HI 20,086 17,490 2,5%
OX2A2=d 17,486
—Mec B2l
10,000, 0002 «80%<E 24> 8,000
~F)I2 22
13,0003 * 128 +20H A+ 12 «80%<E 2> 2,9%
—SLINEIIB A2
130,000 *1CH 130
—sWISTBAGH LR
110,000« 12& 1,320
— DoAY A AR S AR
120,000 «2JH A x 12 2,880
—ELMAH A=
90,0003 +20 A+ 128 2,160
ogxz 1,200
- PIEIp ] 50,0002 200 A+ 122 1,200
ONSTABAIS 1,400
—XeC A2
660,000 660
o= R E LR
370,000 *22] 740
2 35244l 15,916 16,316 600
OZ2Z223ZHAl 15,765
—Sties 50,0003 *3H A+ 128 1,800
—dot=ERs 60,0002 * 12 720
MRS 1,000,000& ~12& 12,000
— N2 MAANES IS SHII
50,000& * 122 600
—RER= 4303 %1, 5000K 645
OAI2 &= X 151
—AERXHI(5H0I5})
1,067&%140.68M 151




A SN2
B ChT 29 U B2
Chel: A2 A2 22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
204 APt AH| 1,050 1,080
02 SEF3H 1,050 1,050
otfel sl 1,050
— A2 M2 ARSI MO
50,000 =2 » 128 %35/40 1,050
301 EtE NS 11,520 7,680 3,840
11 AALRHIXIZS 11,520 7,680 3,840
OXSEAS T2 SAAALH 24
8, 0003 x2& *x240 L x3H 2 11,520
H2ENME SAFYH S X (AIHI) 72,000 72,000 0
Al 36,000
- 36,000
307 el2to| & 57,000 57,000 0
Al 28,500
- 28,500
02 QItEHAEE X 57,000 57,000 0
OHSCMBEAFUHISKIZ (AH-)
57,000,000 57,000
Al 28,500
- 28,500
405 AHaHE = 15,000 15,000 0
Al 7,500
- 7,500
02 A+l 15,000 15,000 0
OHSEMZCATHBIRNHA(SE)
15,000,000 15,000
Al 7,500
- 7,500
SENEN2 2 243,515 280,514 136,999
Al 45,000
- 198,515
CN2TE 2tel(AER) 166,341 189,994 A\23,653
Al 40,000
- 126,341
CANEXE PAU(MEE) 23,388 23,760 N372
201 fer=3| 20,388 20,760 N372
01 AtR2te|Hl 20,388 20,760 VANCY/4
Oget=ZH] 20,388
—FIREEFS (- SIHIXIS) 13,560
=LHA=2 18,0003 155+ 12& 3,240
A=z 20,0008 x15+122 240
- 2N 6,000 *125+50== 3,600
E=RAN| 12,0002 x455+ 122 6,480
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SHl: TAZXS 22 (AEHA) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
BT RS
500,000 * 122 x80%<E 2> 4,800
—FoIE22AMbl1A 2,028,000 2,028
405 AtatE = 3,000 3,000
02 =A=Ehl 3,000 3,000
@)L Erdel 15,0003 %2005 3,000
SN2XNE P (AIERI/AIHL 80,000 80,000 0
Al 40,000
T 40,000
405 AHaHE S 80,000 80,000 0
Al 40,000
- 40,000
02 =M=l 80,000 80,000 0
O=AM=¥ 16,0002 %5,0005 80,000
Al 40,000
- 40,000
CXNENMTEEL 2H(AME) 1,200 1,200
201 =3 1,200 1,200
01 Al 22IH| 1,200 1,200
SHEER=1] 1,200
—HAuREDY
500, 0002 32/ +80%<E 2> 1,200
SN 2H(AER) 29,449 52,240 N22,791
101 21A4H| 14,377 34,156 A19,779
04 JIZtN2Z2 XS+ 14,377 34,156 19,779
OEAMtza=geRY 14,377
F=UIRAGUHEESSEE)
86,4003 2 +2 & +527=+80%< 2 2> 14,377
201 er23| 16,072 18,084 23,012
01 At2teltl 13,999 8,818 5,181
Y=l all 4,948
—RFIDEH211E 7L
3232 6, 0000 *80%<E 2> 1,551
—CANEEE(HZEESHOIZS8E)
- 3,415, 0003 + 141 x80%<E 2> 2,732
—N2A2LESS (e, EHS22)
-8 831, 0003 141 +80%<E 2> 665
OZelsal 9,051
—RFIDZ= A 2| AIAE 9,051,000& *14] 9,051
2 S52g4l 1,073 9,266 28,193
OZ2Z223LHAl 215
—RER= 4303 +5000H 215
OAlE EHIS Xl 858
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EHel: TAZXZ Zel(AEA) EER=E)
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—SYCMBIEHENHIARRIE S
143,000 604 858
SAAIAE 22| (MEHE) 32,304 32,7% 2490
201 er=23y| 32,304 32,794 aviicy
01 AtR2t2|HI 24,928 4,133 20,795
Odgt==d| 2,036
—ALYT 2 HANSATAY
246,000 «6H 1,476
—IHemAMHAMBIAAES S
560,000 1= 560
OZclsal 22,892
—0|SXHH L2l AN ABSE R ES
12,500,000 12,500
—SHOIXIKX 2=+ 10,392
- SHIOIXISN= A 2= 9,600,000& 9,600
- SHOINZANBMEZ BRI 2
6,600,000 *12% 792
2 Ss2g4l 7,376 28,661 N21,285
OZZ2=ZAAl 7,376
—QHHA R ndotolLolIE=
232,650 122 2,792
—SHOIN&BUSAISE
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—SHIOIXIOIO| BRI BAIEZ
550,000& 1= 550
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—JBHE M EHIR A2+ 3,000,000& 3,000
SN23H T4 (AEE) 77,174 90,520 A13,346
Al 5,000
- 72,174
SENSIEZ2IY 2 (AEE) 41,594 46,160 N4,566
201 et 3| 27,766 30,800 A3,034
01 At22t2l] 10,736 9,920 816
Oget=ZH| 4,400
—CNZHAIHR2EAES
400,000 *102] »80%<E 2> 3,200
—S0eI2ELRS
1,500, 0002 x80%<E 2> 1,200
O=g=g 4,800
—ESEMUSEMEILAE
100,000 x32& * 163 4,800
OF=F{:] 1,536
— BN 2AHRFNG A
8,000 2«6 x40 x80%<E &> 1,536
02 S22l 1,030 1,080 A50
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— 33 M2EIUHEXREIHI(AZ)
240,000 240
03 Ar=EHI 16,000 19,800 A3,800
OB MAH=A B
20,000,000 =80%<Z 2> 16,000
202 048l 2,928 560 2,368
01 2L AH| 2,928 560 2,368
O EN2ASHE A2 Tt Z =8 04|
97,4502 #2F x22 *25| xB0%<E 2> 624
OS2 ARFT O
20,0003 »6 & x24 L «80%<E 2> 2,304
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11 dALEBIXNIE S 10,400 12,800 2,400
OSA2ASHAHINRES
1,000,000 +82] 8,000
OXHESAAAYIXIES
8,000 *x2& 150! 2,400
14 JIEt2d= 500 2,000 21,500
OSMZSHHAF O Rt 2t 500,000 500
FOHDS NKR(AEE) 14,480 15,440 A960
201 er=23| 14,480 15,440 A960
01 AtR2te|Hl 14,480 15,440 A960
O=2g+¢ 14,480
—FUEESNESAE
80,0003 x 122133 12,480
~DICIRESASE
100,000& x2Al 2% 102 2,000
25tetn) 2 (ASX/AIL]) 10,000 10,000 0
Al 5,000
- 5,000
201 er2 3| 10,000 10,000 0
Al 5,000
- 5,000
01 AtR2t2|HI 10,000 10,000 0
Oget=EH| 1,600
—22ESLEZHI 400,000 *42] 1,600
Al 800
T 800
O=23+¢ 8,400
— 4440 100,000 x743] 7,400
Al 3,700
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Al 20,000
T 20,000
405 AHaHE S 40,000 80,000 240,000
Al 20,000
- 20,000
02 A+l 40,000 80,000 40,000
O=AM+Y 16,0002 %2,5005 40,000
Al 20,000
- 20,000
CNTEA 2 (2 17,081 32,7% A15,715
101 ©1AH| 3,871 18,851 14,980
M ORNZZ2NSE S 3.871 18,851 14,980
OZ M2 A 212 3,871
—FIIRIRI Y (SR 2 T E)
86,4002 x2H *x2 2 x 143=+80%<E 2> 3,871
201 fer23y| 11,610 10,745 865
01 AtR2t2|HI 11,395 2,371 9,024
Odgt==H| 1,225
—HeI85(Meteess)
740,000 *14] 740
—RFIDER 22N1S 7L 3233 %1,500H 485
OZels4H] 10,170
—RFIDE= A 22l Al AB R X 2 2=H]
662,000 32 1,986
—A0IEZ N2 R E s
682,000 122 8,184
2 s5=4g4l 215 8,374 A\8,1859
OZ2Z22ZZHAl 215
—RBR= 4302 *5000H 215
301 EetE NS 1,600 3,200 21,600
11 #AIAHIXIE S 1,600 3,200 21,600
OEAMAZ2E NS A
8,000 x4 »50! 1,600
CIXNE SEXEEA 2H(eH 3,413 6,508 23,095
201 er23| 3,413 6,508 23,095
01 At2teltl 2,200 2,200 0
Odgt+=ZH| 1,200
—dMESAY
100,000 x5S *32] x80%<E &> 1,200
Ogxt= 1,000
—ANEZNZAEXNAIZSIE
1,000,000& 1,000
2 s5=34l 1,213 4,308 A3,095
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—ADIECABOH UG AAIEE
24,0003~ 122 288
OAE EHIS X 925
—JIEE A E =X 2 4 625,000 625
—A0EECNZEIANER A2+
300,000 300
SMN23 ZH(eH 6,734 29,070 N22,336
SNESZ2 22(HA) 4,734 12,050 A7,316
201 Let=23 | 2,190 9.210 AT7,020
01 AtR2te|Hl 1,280 3,900 A2,620
o2zl 1,280
—OHANE A BB ERIZ A
8,000 x5 402 xB0U<E 2> 1,280
2 S5=2g4l 910 810 100
OZ2Z22ZLHAl 910
—S3EM2EaI(22)
400,000 12 400
—st=EM2E3HI(28)
390,000& %12 390
—S3EN2EIUNHEXIREIHI(BS)
120,000& %12 120
202 04l 2,544 840 1,704
01 =LHA LI 2,544 840 1,704
OMFEHBASUTIZ S 0]
97,4003 2 22U 23| «80%<E 21> 624
Ottt A2 H R0
20,0002 x5S *24 2 xB0U<E 2> 1,920
OElol S E43 T2 29(2Ha) 2,000 3,420 1,420
201 el 1,000 2,420 1,420
01 At2t2ltl 1,000 2,420 1,420
O=2g+¢ 1,000
—CARASTR IBAANSEY
100,000 %102 1,000
301 Eet2 NS 1,000 1,000
11 #AIAHIXIE S 1,000 1,000
Ooleglol=2stsd 1,000,0002 %12 1,000
SN2 A" |SRI22l(etat) 572,797 117,503 455,294
AL SAIZel(eHA) 34,048 60,303 N26,255
201 er2 3| 34,048 60,303 N26,255
01 At2teltl 6,154 11,061 4,907
Oggt=3=H| 5,254
—SOIBHIAARAIZ S
220,000 x4 880
—FIQHE BRI A AR
232,000& * 122 2,784
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—agANEEE = 600
L~USEYLEEH 600,000 12 600
—SHEES 30,0002 * 110 A+32 990
osgsg 900
—gay| 30,0002 1 %302 90
02 S3=24l 27,8% 49,242 N21,348
OZE2SZHMA 23,348
—&JIRa 3,500,000 6 21,000
—gotrERs 300,000& +6E 1,800
—CAZAIES S A S
437,400 %12 438
— 4G DA DS E S
100,000& %12 100
—a2C|HHAEE 10,0002 %12 10
OAlZ EHIs Xl 4,546
—AERNHI(22/25E =)
4,03031%1,682m *5(0f% 3,390
— =R XL (Z2/200I3t)
3, 1002 %261.9m" *x50f% 406
—JIAEHIRX 2+
1,500,000 * 141 50% 750
oA A2t 2|22 (=HI) 538,749 538,749
401 Al HIZL 01| 538,749 538,749
01 Al&H| 532,295 532,295
Ot N 2| 2 ALY
532,295,000& 532,295
03 AIESTHYI 6,454 0 6,454
O E NI 2L ALY
6,454,000 6,454
SEDMS 2E 291,718 316,675 N24,957
Al 58,750
- 232,968
SNETE 2e|(SE) 130,591 152,950 N22,359
Al 40,000
- 90,591
SNETE FU(EE) 16,656 16,656 0
201 et 3| 13,65 13,656
01 AtR2tc|Hl 13,656 13,656
Oget=ZH] 13,656
—ZIIRIAEF= 11,256
=LaE 18,0008 x165+12& 3,456
=2lu=2 20,0008 x25+122 480
- 2N 6,0002*105+50== 3,000
i=FdoN 12,0003 x305+ 123 4,320
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el TAAXZ 22(BE) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—HIEHE(OWS) 7Y
30,0002 * 100 +80%<E 2> 2,400
405 KHoHFSHI 3,000 3,000
02 =&l 3,000 3,000
ot=+g 30,0002 %1005 3,000
CN2NE FU(SE/AHI) 80,000 80,000 0
Al 40,000
- 40,000
405 AHAHE S 80,000 80,000 0
Al 40,000
T 40,000
02 A+l 80,000 80,000 0
O=AM+Y 16,0002 %5,0005 80,000
Al 40,000
- 40,000
SAREY 2E(S5E) 30,235 52,594 22,359
101 21AH| 14,377 34,156 19,779
04 JIZtN2Z2XNSE+ 14,377 34,156 A19,779
OEAza=ERY 14,377
—=UCILAGGUHEEES ZE
86,4003 2 & +2 & #5275 +800<E 2> 14,377
201 Ler23| 13,458 13,638 A180
01 At2teltl 12,598 6,364 6,234
Ogegt+=ZHI 6,124
—RFIDEH 215
4003 *6, 0007H +80%<E 2> 1,920
—CANECISE(HERIEE)FL
2,105, 0002 141 x80%<E 2> 1,684
— N2 A2HES(JIIE2E) 7Y
2,249,000 + 141 x80%<E 2> 1,800
—CNASIIADE(BILE) DY
300, 0002 *34]*x80%<E 2> 720
Ozels89H] 6.474
—RFIDE M2l AIABRXIE 4=
539,500 122 6,474
02 S3=gHl 860 7,274 N6,414
OZZ2=ZHAl 860
—RER=S 4302 *2,0000HK 860
301 LELEE S 2,400 4,800 A2,400
11 dALEEIXIRE S 2,400 4,800 2,400
OEN22E 2 SAHAHIXIH
8,000 x2& » 150! 2,400
CXE dXEEL 2E(S5E) 3,700 3,700
201 eer23y| 3,700 3,700 0
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el TAAXZ 22(BE) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 1,200 1,200 0
Odit==H| 1,200
—dMESAY 1,500,000 «80%<& &> 1,200
02 S3=gHl 2,500 2,500 0
OAI2EbBI= X 2,500
—JBHE M EHIRXI 2=
2,500,000& *14] 2,500
SN28 24 (EE) 81,913 88,39 A\6,486
Al 18,750
- 63,163
SNZIZ2Y 2E(SE) 32,127 26,139 5,988
201 er23y| 28,199 24,579 3,620
01 AtR2t2|HI 27,556 24,036 3,520
Odgt==H| 12,720
— SN AAXITIE
900,0003 x 122/ x80%<= &> 8,640
_SNSsEE NS YADE
400, 0002 *92| +80%< & 21> 2,880
—SoeI=2EES3
1,500, 0002 x80%<E 2> 1,200
O=g=g 13,300
—0{2l0] - 3LEUSHIAZLZ 1S Al
g 100,000 8 *83] 6,400
- S LA
100,000 *1& *42| 400
—SARSZ2OBLAFL(HALH)
100,000 +62 102 6,000
—CHBFNUS o g S LY
500,000& %12 500
O2&Hl 1,536
—SETN2GERFISAI
8,000 2«6 x40 x80U<E &> 1,536
2 S52g4l 643 543 100
OZ2Z223LHAl 643
— 2 M2EIIHI(32) 123,000 123
—S3TN2E3HI(B=) 400,000 400
—SSTN2UEXL3HI(BZ)
120,000 120
202 04| 2,928 560 2,368
01 =LHO LI 2,928 560 2,368
O M2AS L Ttz +E 0]
97,4002 x2E 22 23| x80N<E 2> 624
OBENSHRFAOHYI
20,0002 «6 & x24 2 »80%<E 2> 2,304
301 Eet2 NS 1,000 1,000 0
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el SA2s Zd(8E (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 dALEEIXIZE S 1,000 1,000 0
O3 &HIXZE 1,000,000& 12 1,000
SNE2BHA2S(SE) 16,936 19,080 N2,144
201 er23y| 14,936 17,080 N2,144
01 AtR2t2|HI 7,736 8,080 A344
OEICIER=T| 6,7%
—SAEIEM D0 7Y
26,0002 +120 7221 0| +80H< 2> 2,4%
—SAfEREREDY
1,800, 000 * 1A +80%<E 2> 1,440
—SNOIIEZSES
3,500, 0002 141 x80%<E 2> 2,800
O=g=g 1,000
—SAEEZASY 100,000& * 102 1,000
03 Ar=EHI 7,200 9,000 21,800
O=E&Ed 9,000, 0003 1] »80%<E 2> 7,200
301 eEtE N = 2,000 2,000
14 JIEt2 a3 2,000 2,000
SNESHBHAHAIFH N2
2,000,000 *14] 2,000
AL NI (SE) 6,400 9,600 23,200
201 223 6,400 9,600 23,200
01 At22t2ltl 6.400 9,600 23,200
O=2g8=+d 6,400
—=0HESNFLAZ (L)
80,0002 x82 Z++102] 6,400
LeIUE SAEHE(AIH]) 18,750 18,000 750
Al 18,750
201 er23 | 18,750 18,000 750
Al 18,750
01 At2t2l] 18,750 18,000 750
ORCIHEZAEIER S 18,750,000 18,750
Al 18,750
Oglol s S43 X208 29(5&) 7,700 8,380 2680
201 fet=3| 5,700 6,380 2680
01 AtR2t2|HI 5,700 6,380 A680
O=g=g 5,700
—CHEFAASHAL S LML
500,000& %12 500
—YSET 2 AR
100,000& »243] 2,400
—O{S0IHELZ OB LAIE
100, 000& »282 2,800
301 LELEE S 2,000 2,000 0
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2,700,000& *1

— A 2010121

3
2,880,000 x80%<& &>

A0
RO

RO
ol
Ko

3

3

3,000,000&
2,000,000&

o
[und

1%1,982.96m

48,0002 18

450,000& %1

450,000 *1
4,850,000& *1
316,000& 128

489,100& 12

3,700,000& « 128

2,593

b

StH&S Al
o

KIAl
X

X1 (15 0]
o

=
=]

o
TT

2
&I
=

4

—JIHEEIRXE=S

OAIZZ IS X
—&IIAl

(=]

X

o

.

£l

1
3
0

52,817
52,817

390,130

52,817
52,817
52,817

405,130
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A&

B ME2CHZ 29
Rl A2 Of2 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
—H2AEE=
2,000, 0002 * 1 Al x80%< & 2> 1,600
—HMES 3,000, 0002 * 1A+ 80%<E 2> 2,400
— AtCIZSHIE
20,000, 0002 * 1A x80%<E 2> 16,000
—EA3¢l 5,000,000 * 14| 5,000
i 3,7403 *1,50004 5,610
— AT EQI0 (82 ,MS) 674,320 *27 4 18,207
— e ERH 4,000,000 * 14 4,000
207 AR HI 15,000 15,000
02 HADNE| 15,000 15,000
O=HIOIKIDH& 15,000,000 * 14! 15,000
405 KHHFSH| 337,313 15,000 322,313
01 XML =ZFSHI 337,313 15,000 322,313
OSMBRISEA A IS 207,554
—FFIDXISSHAI A &S 180,504
CHOIEEAIAE
23,324,0003 =4CH 93,29
- AN ERead/Mr ited| 2,600,000 *3CH 7,800
- ENMEED] 5,800,0002 1CH 5,800
- AOLERHE A Ot 24,304,000 «2CH 48,608
- CESHSEHAIAE
25,000,000 *1CH 25,000
—osEzFHA 27,050
0IBNELES 1,250,000 *5CH 6,250
- 01 ENEZFH 1,300,000& = 16CH 20,800
OJLHISS 108,219
—FO0IAZE 4 14,700
- AEQIRL 3,800,000 & *1H 3,800
pluoRgl ATt 400,000 *25I4 10,000
=OL=ZE Xt 300,000 =34 900
— Ut EEA 9,460
STER 400,000 & 404 1,600
A Z Ot 230,000 =24 460
S EoIt 370,000& *2004 7,400
—E3t0ICI 32t 2,570
L= A 257,000 =104 2,570
—0l0p|e 3,014
NGNS\ 158,000 *3JHK 474
- {0l Z2 &t 85,0003 * 124 1,020
- AEQIRL 380,000 =44 1,520
—eloldE82oa 6,100
2 350,000 =14 350
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A&

My HZEAT 2Y
Chelr A2 Jf (Ete &
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
s 290,000& * 1574 4,350
RPN} 70,0002 *20K 1,400
—224,2 20,150
2 350,000 *1H 350
et 400,0002 *30H 12,000
R=PN; 130,000 *60H 7,800
—gdla 1,390
- HHIZEAE 500,000 *14] 500
= LS| 500,000 *1CH 500
- SN 130, 0002 *3H 390
—ARAHENE 2 12,750
- HANE 450,000 *7 K 3,180
=\, 230,000& *7H 1,610
LDEIERE LS 250,000& *104] 2,500
- EAMAIED 750,000 1K 750
-2 EE A 400,000 14 400
<UD, 130,000 +8H 1,040
- IHBIR 330,000& * 107K 3,300
-3 6,640
-2 ESE A 400,000 6K 2,400
- HYESAL 424, 0002 = 107K 4,240
—A=EYe A2 11,220
RLES) 764,000 * 10K 7,640
- HANE 450,000 1K 450
- HEEAA 230,000 +2H 460
- B 200,000 *5H 1,000
- MEISHRES 250,0003 *34] 750
- 2SS 400,000 *1K 400
ISIUESSIN; 130,000 +4H 520
—2&AM1 6,626
- R2EEADt 6,626,000 * 14 6.626
-7 3,149
1 2k Ch 990,000 <2H 1,980
=REAMAER 1,169,000 «17H 1,169
—HAIZ2H 10,450
X 320,000 * 107K 3,200
= EINE=IDN; 365,000 * 107K 3,650
-hENESA 0t 360,000 * 10H 3,600
ONSARHEH P 21,540
—HI2EAINY 350,000 +3CH 1,050
—3|ASZelH 3,300,000 *2CH 6.600
—&7)|s2eld 450,000 *1CH 450
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A&

B ME2CHZ 29
Rl A2 Of2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—HIREZeH 2,200,000 = 1CH 2,200
— M= 4,200,000 *1CH 4,200
—H2eH 580,000&*10H 5,800
—EegesEs 620,000 x2H 1,240
SAERE 2e(AS) 193,740 136,440 57,300
Al 60,000
- 133,740
SN2LtE F(AS) 3,964 3,964
201 Ler2&| 3,964 3,964
01 At2teltl 3,984 3,984
odJItd=-¢ 3,984
— 32Xl 6,000 105 +36F+80U<E &> 1,680
—E2tX 12,0002 «30S5+8F »BU<E &> 2,304
CAANE FL(AS/AHI) 120,000 100,000 20,000
Al 60,000
T 60,000
405 AHatE S 120,000 100,000 20,000
Al 60,000
- 60,000
02 =M=l 120,000 100,000 20,000
OXSNSZAFY
16,0003 %7,500& 120,000
Al 60,000
- 60,000
CEAXEY 2H(A8) 69,756 36,440 33,316
101 @124H| 9,677 0 9,677
M ORIMZZ2NSE S 9,677 0 9,677
O A2 2N 2 9,677
—FLIZHAL Y (CUHEEZZE)
86,4002 x2H »2 & x35F=+80U<E 2> 9,677
201 fer= 3| 60,079 36,440 23,639
01 At 2|l 28,826 36,440 AT,614
Oget=EH| 14,276
—RFIDER 22NS T
3233 15,0000 ~80%<Z 2> 3,876
—TNH2IZ2E (¥ 63)7Y
13,000, 0002 14! x80%<E 2> 10,400
(@)1= 5= 2l 14,550
—EASEH0IHASLE]
1,940 +7,5002 14,550
2 s5=4g4l 31,253 0 31,253
OZE2SZMA 30,393
—dIIeS 2,100,0002 0 18,900
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M S22
By MECAZ 29
el SN2RE 2el(A el
A - B8 - S9I(31) - HIRAY - BaS Ol &t A 2
A3 1,200,000& 92 10,800
—SI=2E MZESIHI(L3IE])
50,000& *12] 50
—S=ENZ2E3IHI(32)
123,000& *13] 123
—S3TAMZE38I(B2)
400,000 %13l 400
—S3TMZEIIUEXR3IHI(BS)
120,000& *12] 120
ORER3 860
—HEFAY 430&+2,0000H 860
SN2 ZH(HE) 18,124 0 18,124
SNSSEZ2 S 2H(HS) 15,304 0 15,304
201 ZEH2 & 10,760 0 10,760
01 AFS2t2ltl 2,760 0 2,760
OgBt===H| 480
—SMNISIEZNH2IES
300, 000 x23| *80%<E 2> 480
Oo2g+e 1,000
—=AMZzt Z A==
500,000 23] 1,000
O=gtl 1,280
EEa RV R goe! FSF=galsll
8,000 *5H x40 +80%<E 2> 1,280
03 A2 G| 8,000 8,000
O SHAHZHLH)
10,000, 0002 *80%<E 2> 8,000
202 04l 2,544 2,544
01 =B 2,544 2,544
O A2t = =& |
,A00R x2H +23| x2 2 +x80%<E 2> 624
O&SEA2HR=ALI
20,0003 *5 & #2422 +80%<E 2> 1,920
301 LEt2E S 2,000 2,000
14 J|EI2 &S 2,000 2,000
Ot HALE 2,000,000 14 2,000
glo] 9& S43 I 2Y(48) 2,820 2,820
201 ZEet2& ] 2,820 2,820
01 ArR2eltl 1,220 1,220
Oget==H| 720
—0E0IXEFBEZNSE2I=S L
300, 000 33| *80%<E 2> 720
Oo2g+d 500
—Elo|ESEZ2 N HUA Y
500,000 *13] 500
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2A:

B HA2CMB 29
S©el: SA2s TH(48) (SH9: &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 #AL2 | 1,600 0 1,600
O0f2I0|E T
1,000, 0002 #2232/ +80%< & 2> 1,600
dY2IIH(=A223) 685,072 532,585 162,487
= 90,330
- 594,742
QIHARAH(CEM22E ) 650,192 454,132 196,060
= 90,330
- 559,862
QA2 HHI (N2 AIFAZ AL /2HI) 276,641 264,762 11,879
= 90,330
- 186,311
101 @12A4H| 233,780 229,638 4,142
[ 77,924
- 155,856
03 SRA(RIH )22 U2+ 233,780 229,638 4,142
OMZAIZIAZAI A (EHE P /6H) 233,780
—JlEs 1,949,000 x6E « 12& 140,328
= 77,924
T 62,404
—a0= 1,731,830 x6 & x200% 20,782
—22+ 12,1302 62 *1.55120A[ 2t 13,101
—Ru2Rsy
13, 12021+8AI b1 5462 12! 945
—oXRIRIEY
13, 1202 +8AI 26 <20 12,59%
—X2I&8l 170,538,0002+3. 1% 5,287
-2 60,0003 6 122 4,320
—IEse 1,920
BN, 40,0002 x 12 x 122 480
JIERHE 20,0002 6~ 122 1,440
—gAGAHI 140,000 x6& * 122 10,080
—uwSH| 140,000& 62~ 123 10,080
—SEFOHI 1,731,830 x6E «60%*22] 12,470
—3d2=+4 155,8703 x6 & »23] 1,871
4 HSRESS 42,861 36,124 7,737
[ 12,406
- 30,455
M SRA(RIAHSL) 22X BEERE=3 S 42,861 36,124 7,737
OSRAN2AHY)2EHSRES(6Y) 42,861
—=0z)|2RE=
220,540,260 *4 . 5% 9,925
s 4,963
- 4,962




A SN2
M HESAAY|(CAZ2AD)
CHel: QIARAH(EH2A2Y D) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—=S0ALEEI | AR S 8,821
ral et k= 220,540,260 *3.545% 7,819
= 3,909
- 3,910
L IEAIIQAEER
220,540,260 *3. 545%+12.81% 1,002
= 501
- 501
—IEEZEREs 220,540,260 *1.75% 3,860
= 1,930
- 1,930
— 2SS RES
220,540,260 *1. (0% 2,206
[ 1,103
- 1,103
—EXHE= 36,09, 7082 «6 /122 18,049
QIARIH(EM22Z L) 373,551 189,370 184,181
101 @124H| 371,659 189,370 182,289
01 &2 98,1%4 111,666 A13,472
OAlteI22+E
11,3192 %27 +3BAI 2 12 1. 02+ 75%<E 2>
98, 1%4
02 JIEtA = 84,344 77,704 6,640
OARIEEHHMLIIM (D=2 S/298) 68,302
—JlEs 2,500,250 «2E « 12 60,006
—XIHEHI 60,006,000& +3. 1% 1,861
—gus 61,867,000 *130%+8% 6,435
OAIRIMEETRIZDIMOE =< 16,042
—A2tel2f+E
9,6203 x2S *20AI 2t 12+ 1. 02+ 75%<E &>
3,533
—IIEsd 960
- BH A 40,0003 x1&+12& 480
JIE 20,0008 x2& * 122 480
- S+
2,845,910 «2& +B4%+5+ 122 2,869
— NG 140,000 <2 * 123 3,360
—Ag2xH| 175,000 2 » 122 %35/40 3,675
—CtE &I
2,845,9103 x2& »84%+86%+12/30 1,645
03 SR (RINHA) 222+ 189,121 0 189,121
OZNEULTZSAMER(HELR/4Y) 189,121
—JIZ2= 2,217, 8103 ~4H 123 106,455
—d0=3 2,217,810 x4 +200f% 17,743




2H: SRS
M BRSHAY|(THBSH)
Cigl: olE2aH| (AR ) (crol: & 2)
A - B G(3H) - NRAY - HES ol b e HlmS2
—224Y 15,0702 %1 5x424x 120A| 2+ 10,851
s =
16,4202 x8A| 241, 55424 %12 789
—oRtRIEeY
16,4202 *8A| 2H+4H +20 10,509
— X< IH&HI 145,351,648 #3. 1% 4,506
—HRAg 60,0002 4% * 122 2,880
—JE4Y 7,680
VY 40,0002 x4% 122 1,920
JIEDIE 20,0002 424 122 960
D OJE 30,0002 424 1224 1,440
= JE 70,0002 #4824 1224 3,360
— oAl 140, 00021 x4 * 122! 6,720
— Sl 140,000 x4 H 122 6,720
—HESIHI 2,217, 8103 4 «60%+22] 10,646
—d2+ 332,680 x4 H+23| 2,662
—2ENaY 40,00021%02 122 960
M H=RE=S 1,892 0 1,892
04 SR (RIIAHY) 22X BEHERES S 1,892 0 1,892
ORDHNTZE R (4)
189,117,540 % 1% 1,892
Jl2dul(EA22Z 1) 19,165 0 19,165
Jl2Zu(EA22E ) 19,165 0 19,165
201 2Et2 & 12,841 0 12,841
01 AFR2t2ltl 12,841 0 12,841
OYer+gH| 8,520
—2 gL
11,360, 0002 +75%<& 2> 8,520
O=gHl 2,151
—RNRYURERZAY)
8,000 x28H 122 +x80%< & 2> 2,151
oY=z 2,170
—deEL|UNE
41,9003 *1CH+ 122 503
—ZIIEEIIYR 2
39,9003« 1CH+12& 479
—=8)|ex2 99,0002+ 1CH* 122 1,183
202 it 1,304 0 1,344
01 =04 bl 1,344 0 1,344
ORAN2YLLET0]Y|
20,0003 28«3 +80%< & 2> 1,344
203 LR =&H| 4,980 0 4,980
04 FA2ILRFAL 4,980 0 4,980
ORA2ILRFAH| 415,000 128 4,980
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of
i’
oF
uJ

-

KIO

Hlw

A19,012
A19,012
/10,252
A10,252

A21,541
A21,541
A 14,001
214,001

A23,648
A23,648
214,760
214,760

MEE
Ofl &k2h

24,851
24,851
16,091
16,091

24,042
24,042
16,502
16,502

29,560
29,560
20,672
20,672

ol &rey

5,839
5,839
5,839
5,839
3,120
3,120

2,719

383

924
2,501
2,501
2,501
2,501
2,501

317

924
5,912
5,912
5,912
5,912
5,912

1,260

- SRA(E) - HIRAY

- ESS

S LRE-L

30,0003 1042

01 At22te|bl

4

ol

O

29,4003 ~4LH+12E
31,9003 10~ 128
77,0003 * 128
21,1002 +5CH+32
105,000& *1CH+ 123
77,0003 *1CH =122

01 AtR2telbl

&
T

K

01 At22te|bl

n
=<

— &= AD Y

Jl=23HI(

l2dui(s

1,463
1,463
1,463
1,463

1,260
1,604

960
2,088
1,463
1,463
1,463
1,463
1,463

72

671

105,000& *1CH* 123
33,4003 40 =122
26,6503 x3CH =128
21,7403 -8~ 128

99,0003 ~1CH+82
41,9003 »2CH+8E

t=

—HIO
01 AtR2telbl

Jl23HI(A




